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5. On the front page of the Answer Sheet, write by pen your Roll Number in the space
provided at the top, and by darkening the circles at the bottom, Alsp, wherever applicable,
write the Question Booklet Number and the Set Number in appropriate places,

6. No wemﬁrlﬂﬁ Is allowed in the entries of Roll No., Question Booklet Ne. and Set No.
(if amy) on OMK sheet and also Roll No. and OMR Sheet No. on the Question Booklet.

7. Any changes in the aforesaid entries is o be verified by the invigitator, otherwise it will be
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No. of Questions : 60

T & 6w ;60

Time : 1 Hour Full Marks - 180
WY © 1 gUeT goie 180

Note :

Each question carries 3 marks, One mark will be deducted for each incorrect
answer,
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() Each question is followed by four alternative answers. Only one of these
answers is correct. Select the correct answer and indicate it in the

appropriate circle on OMR Answer Sheet provided, by darkening the
circle, using Ball Point Pen.
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(1) Attempt all questions from S1. No. 1 to 4¢.
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(i) Out of three sets of questions on languages (41 to =0 Hindi, 51 1) 60 E.”gjjﬁh

and 61 fo 70 Sanskrit), attempt only two sets. Thus, a candidate is required
to answer in all 60 (sixty) questions only,
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Direction : (Q. No. 1,2 and 3) : In three interlocking circles A, P and S, where in circle A
stands for artists, circle P stands for professors and circle S stands for sportspersons.
Different regions in the figure are lettered fromato g as shown below :

Based on above divection ;

{. Which of the region which represents artists who are neither sporismen nor
professors ?

(1 d (2) e @b @) g
2. Theregion which represerits professors whao are both artists and spoTispersons -

i & (2) ¢ (3) d @ g

3. The region which represents professors who are also sportspersons but not
artists

(1) e 1 ' (3 ¢ (4) g

4. 1f P denotes '+, R denotes 'x', § denotes '~ and T denotes '+, then what will be
the value of SR9P7S9T3r6 ?

(1) 55 (2) 54 (3) 39 (4) 128
5, The next termin the following aipha—numeric series is :

A1Z E2V, 6R, M2IN, Q88], 2

. 5 3y GM2C 4y V441G
(1) F445U (2) U445F 3} () 1
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10.

1.

12,

13.

How many triangles are there in the following figure 7

(1} 20 (2} 22 , (3) 18 (4) 24

[f TAMILNAD is coded as 387241859, How DALMIA will be coded 7

(1) 584278 (2) 384728 (3) 584782 (4) 548728

In a row of boys, Ram is 11th from the right and Mohan is 15th from the left. 1§
Ram is 12th from Mohan, what is the total fumber of boys in the row ?

(1) 36 (2) 37 (3) 38 (4) 39

The average of seven numbers 7,9,12,x,5,4,11is 9. What is missing number x ?
(1) 13 (2) 15 (3) 14 (4) 8

A one-rupee ¢oin is placed on a paper. How many coins of the same size can be
Placed around it, so that each one touches the central and adjacent coins ?

(1) 3 (2) 4 . 3) 6 (4) 7

The average age of 19 boys in a class is 21 years. If the teacher's age is included,
the average age increased to 22 years. What is the teacher's age ?

(1} 39 years (2) 41 years (3) 40years (4) 44 years

There were a total of 10 bicycles and tricycles. If the total number of wheels was
24, how many tricycles were there ?

(1) 2 (2) 6 (3) 18 (4) 4

A box contains 10 green and 8 Yellow balls, In how many ways,
same colour can be drawn ?

(1) 28 (2) 36 (3) 54 (4) 73

Wo balls of the
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14.

15.

16.

17.

18.

19.

20.

21.

I{ the circumlerence of a circle is equal to the perimeter of a square, find the ratic
of the area of the circle to the area of the square :

(1) m=:2 (2) 2:n (3) 4:1n (4) n:4

If 2 sin 30° + tan 60° = cos’ 0 + cos @ +f3 —land0<B s % then 0 is equal to
i1y O° {2) 45° (3) 60° (4) 90°

If the height of a pole s 243 m and the length of its shadow is 2 m, then angle of
elevation of the sun is equal to :

(1} 30° (2) 45° (3) 60° (4) 90°

The H. €. F. and L. C. M. of two polynomials is (x ~ 2} and (x®+6x% —x-30)
respectively. 1f one of the polynomials is (x‘ +x - 6), then the other polynomial
i8:

M) 2 -7x+10 @) xP-5x+10 (3 x*-4x+10 () 2L+ 3= 10

If 4% = 1024, then 6% ¥is:

(1) 36 (2y 12 (3) 6 4y 3
‘.[fua:.u:xy-—l:E;S,l;hL:u L 5.4 is

' yz X
(1) 1:4 {2) 1:2 (3) 3:2 s ofdyided

The device that is used to forward data packets from one network Lo another 1s:

(1) Hub (2) Modem (3) Router (4) All of the above

On 17th july, 2017, voting in India took place for which of the following post 7

(1) President (2) Vice-President

(3) SPeakET of Lok Sabha (4) Speaker of Rajya Sabha
9. On which day, the present torm of national flag of India was adopted ?
| (i) 1ond July, 1947 (2) 15th August, 1947
uary, 1930 (4) 26th January, 1947

M. Phil. Ph. D. & RE
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23. In which of the following year, Right to Education Act was implemented ?
(1) 2009 (2) 2010 (3) 2011 (4) 2012

24. Among the following, who is presently the Governor of Reserve Bank of India ?
{1) Y. V. Reddy {2) D.Subba Rag
(3). Raghuram Rajan (4) Urjit Patel

25. On which date, International Yoga Day is celebrated ?

{1) 21st April {2) 2ist May (3) 21stJune (4} 21st August

26. Who was the first Indian Governor Genera] of India ?

(1) Motilal Nehru (2) Gopal Krishna Gokhale

{3) Sardar Patel (4) Chakravarti Rajagopalachari
27. Who was the Cﬁaimmn of the Fourteenth Finance C _ommission in India ?

(1) Y.V.Reddy {2) Abhijit Sen

(3) Vijay Kelkar @ Sushoablath

28. Redcliffe line defines boundary between :
(1). North Korea and South Korea (2) U.S. A.and Canada

(3) India and Pakistan (4) India and China
29, The decadal growth rate of Population during 2001-2011 was maximum in the
state of : '
(1) Bihar (2) Rajasthan
- (3) Madhya Pradesh (4) Uttar Pradesh

30. Gﬁo-:ls and Services Tax (GST) has been introduced in India with

effect frﬂm :

) Julgy, 2016
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31.

32,

33.

35.

36.

3.

1. phil. Ph. D. & RET/

What is LINUX ?
(1) Malware (2) QOperating System

{3) Application program (4) Firmware

A list of instructions used by a computer is called :

(1) Text (2) Program (3) CPU (4) Output

GUI stands for :

(1) Graphic Unit Interface
(2) Graphical User Interface
(3) Graphical User Inleract

(4) Graphics Used Interface

Which of the following is a correct format of Email address 7

{1} name@website@info

(2) name@website.info
(3) www nameofebsite.com

(4) name.website.com

Computer Virusisa:

(1) Hardware (2} Software (3) Freeware (4) Bacteria

What is "RAN SOMEWARE" ?
(1) Android App (2) Malicious Software

[3} Antl_\;hrub {4.] Firewall

Wi-Fi stands for :

Wireless Fidelity (2) Wireless Functionality

{1

3) Wired Flexibility (4) Wide Fixea

17/Test AJ20 (6)



38. An e-mail cannot be sent to
(1) A receiver, if he is offline
(2) A person who has email account on some other email service provider
(3} Many people at a time
(4) A person whose email ID is unknown but office address is known

38. Uploading files to a distant computer is done by :
(1) Telnet (2 Chatting
(3) FTP (4) Video Conferencing

40. What do you understand by Digital Signature ?

(1) Electronic signature that encrypts documents to promote paperiess
transactions

(2) Scanned copy of signed paper
(3) Signed by pen but using digits on paper
(4) Scanned signature and pasted over the document

HINDI LANGUAGE
2=l

[ Q. No.41to50]
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(1) e (2) S ) ezt ) oy
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43.

44.

45,

4%,

47.

48.

49,

50.
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ENGLISH LANGUAGE

SiToft smer
[Q.No.51to60]

Note: Read the passage and aﬁsmer the questions that follow ;

It happened one day, about noon, going towards my boat; I was exceedingly surprised
with the print of a man’s naked foot on the shore, which was very plain to be seen in
the sand. I stood like one thunder-struck, or as if I had seen an apparition. I listened, I
looked around me, | could hear nothing, nor see anything. I went up the shore, and
down the shore, but it was all one, [ could see no other impression but that one. I went
to if again to see if there were any more, and to observe if it might not be my fancy; but
there was no room for that for there was exactly the very print of a foot - toes, heel and
every part of a foot.

1. What did the author do on finding the footprints ?
(1} Did not pay much attention to i
(2) Observed it with curiosity
{3;: Started dancing with joy

(4} Ran away from the place

2. Which of the following words best denotes the author's emotions at seeing the
footprint ?

(1) Curiosity (2) Indifference (3) Ilappineeaé (4) Tiresomeness

53. How does the author convince himself that the-fowtprint is a real one ?
(1) By seeing the person who made jt
{2} By being informed by a witness
(3) By pondering over it
(4) By examiring it carefully and noticing its details

. & RET/7/Test A/20 (9)
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54. After seeing the footprints, what was the first thing done by the author ?
{1) He went down the shore (2) He saw an apparition
(3) He looked around himself (4) He went up the shore

Note: Identify the part of the sentence having an error i it

565. Ravi was unhappy (1) / that he would (2) / not attend the farewell (3) / of his
friend yesterday (4)

Note: Identify the synonyrs from the four alternatives given below

6. Bountiful:

(1) pretty (2} generous
{3) spiritual - (4) shameful

Note: ldentify the antonyms from the four alternatives groen below :

57. Euphoria:

(1) elation (2) transport (3) depression (4) significant
Note: Select the word that can be the substitutc for the given words/phrase :
58. An instrument for detecting earthquake
(1) Seismograph (2) monograph (3 polygraph - (3) holograph
Note: Choose the correctly spelt word fmrﬁ the given options .
59, (1) occasional {2) ocasional (3) occassional  (4) occasionel
Note: Choose He ceprect preposition from Hhe §IUen options :

0. Thereisn? exception o this rule,

(1) for {2) by (3) to 4) in

1. Phil, Ph. 0. & RET/7/Test A0 (10)



61,

62,

B3.

65.

68.

SANSKRIT LANGUAGE
ik DAL
[ Q.No.61t070)
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